oooooooo (1)
0ooo

20130 100 40
oo oo

ob0oo0 0oooboobooobooboooboooooboooobooboooooon

obooobOoooooobooog

goo
oono

f(x)

res

coooooooooooosooooooogo
ooooof:S—-RO0O0O0COOOOOOOOO
OooooooopPOODOO

0000 1.1 00 POODOOODOO N: S —2°
gboooboobooooobobooooobobooo
OO000DoOoO00oDooozesSOOOOOOO
OO0 NOOOOPODOOOOOOOOOOOO
oood

o000 1.2 OO0 PODOOOODOOzeSOOO
00000000000000 N:S—2°000
OO0 NOOOO PODOOOOOOOOOOO
oood

0000 1.3 00 PO 200000 21,20 € 50
0000 f(z1) = f(z,) 0000000000000

UobO0 14 nxnO00OO0OO0DOOODOOOOOOO
oobooobOoooooobooobooooo ooo
0000(@Oo00oo0oooooooooooon
ooooooo)

ooog 1.5 50000002000000000
obooobOobooooobOoboooooboooo
0000000000000 DO0o0oooo(@oo
O00000o00ooo0ooUooooooooon)

ooog 1.6 50000002000000000
ooboooooobooooboooooooooo
00000000000 ooooooo(@ood
O000000000o0oooUooooooon)

oooo 1.7 000nO0000000ODDOOO
ooooooooooobOooooooooooo o
000000000 0n0000O00OO0OO0OOO(0OO
O00000o00oo0ooooUooooooooon)

0000 1.8 0000000 POOOOO200
0000 N,:S—250 N,: §S—25000000
00 2€S0000 Ni(x) C No(x) 000000
00o0o00O0oooonN,0000000000 N
0000000000000 0000000n

0000 1.9 00000000000000000
02 € N2)0OOOOOf(2)) < f(z)00000
0000 2 € N2)DOODOO f(«) < f(2)00
00000000000000000000000
00000000000



